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Instructions for the Candidates

Write your roll number in the space provided on
the top of this page.

Answers to short answer/essay type questions are
to be given in the space provided below each question
or after the questions in the Test Booklet itself.

No Additional Sheets are to be used.

At the commencement of examination, the question
booklet will be given to you. In the first 5 minutes,
you are requested to open the booklet and
compulsorily examine it as below :

(i) To have access to the Test Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not
accept an open booklet.

(ii) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not
in serial order or any other discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of 5
minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will
be given.

Read instructions given inside carefully.

One page is attached for Rough Work at the end of
the booklet before the Evaluation Sheet.

If you write your name or put any mark on any part
of the Answer Sheet, except for the space allotted for
the relevant entries, which may disclose your
identity, you will render yourself liable to
disqualification.

You have to return the Test booklet to the
invigilators at the end of the examination
compulsorily and must not carry it with you outside
the Examination Hall.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc. is prohibited.

10. There is NO negative marking.
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This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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SECTION - 1
Qug -1

Note : Answer the five questions from the para given below. Each answer
should not exceed 30 words. Each question carries five marks.
(5x5=25 marks)
T A fed T SR S SR R R T e R S o | TR I (30)
YI=3] qeh BT T1TET | Yk U9 i 3feh] i € |

(5x5=25 3ieh)

“The whole of a man’s income is expended in the purchase of services and of
commodities. It is indeed commonly said that a man spends some portion of his income
and saves another. But it is a familiar economic axiom that a man purchases labour
and commodities with that portion of his income which he saves just as much as he
does with what he is said to spend. He is said to spend when he seeks to obtain present
enjoyment from the services and commodities he purchases. He is said to save when
he causes the labour and the commodities which he purchases to be devoted to the

production of wealth from which he expects to derive the means of enjoyment in the
future.” - Alfred Marshall

" uep Afa it U 3T Yanedi IR fSdi @t wiie # W g St ¥ 1 fafveds, T iR 9 e
ST & Toh Wb Safer STort 311 b1 e 9T T il © TR 9 91 991 § 1 R 9% 1efeme
ht Teh ST et Wi g o (ufaaam) © o uen safad 99 2 1ot 31 o S8 9 9 9|
3R i =l wliear © 59 o o= ®, S for 59 am 9§ 59 9 @ €1 e o 94T 3R
Sidl 1 Tlie ¥ IdHH § TS ATl © S 9 SHehT T haAT el Sl & | Y Jod bl gl
el ST §, 9 98 3 99 3R a&gei o1 Tledl §, 9= 98 ¥H-9mel & Sced § ol <l §
foreq a8 ufosr § e7Fe v o6t o1den war §1" - IThS AR

1.  To which school of thought does the author belong ?
ST o g fomar o | ey wad §?
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2. How is a man said to spend that part of his income which he saves ?

AR bl 319 o SH 9T 1 T HiH aTell hd ehR fegamn §, 5@ amT =l o o= €2

3.  Can there be deficieny of demand in the light of the above principle ?

Sy FaGT o SMHR 9T, 71 Hi7 Y HHT S H9g § 2
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4. Name the law underlying this passage.

ST 3501 fohe From it 3R Hoha e § 2

5. Do you agree with the economic axion referred to here ? Give one reason in support of
your answer.

1 31T T} St STl uferem § WeHd €27 3791 St o 99 H Ush hRu &t |

D —-0105 5 P.T.O.



SECTION - II
Qug —1I1

Note : The part has fifteen (15) definitional questions of (5) marks each to be
answered in upto (30) words.

(5x15=75 marks)

e 39 ©e ¥ Ygg aRuT (15) Yo €1 B U & Ui (5) 3k ¥1 Y
IW (30) T=al | ST

(5x15=75 3i<h)

6.  What are discretionary profits ?

Wiz oy #=1E?

D -0105 6



7.  What is meant by capital - output ratio ?
TSI SUTEH SIS 3 &2

8.  Define Pareto Optimality.
TR SEAHAT <Rl TR hifsid |
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9.  Define capital-embodied technical progress :

it Gfefed forerar gt ot afwmn < |

10. Distinguish between progressive and regressive methods of taxation.

FHARYYT i FfRie Ta Gfam ggfaai et 98 Fifed |
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11. What is linear programming ?

TG gt R R ?

12. Define the concept of multiplier ?

T[UTeh hi STALRUN Tl TRATS S |

D —-0105 9 P.T.O.



13. Define Keynesian notion of aggregate demand.

i~ o THY 91 o fo=m st gftare <if s |

14. What is consumers surplus ?

SN 1 ATIER R § 2
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15. Define the long-term Phillips curve.
referedi fRferd =k sht qitron < |

16. What is meant by ‘Cournot Point” ?

‘At farg | I 2R ©?
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17. Distinguish between capital deepening and capital-widening processes.

“Shdtedt SafaT’ 9o Shdted argefan gt § 9 wifsa |

18. Identify different components of money supply.
qe1-gfd o fafirs Heeshi ol dad |
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19. Define Total Factor Productivity (TFP).
TS A IRl i TRHTHT S |

20. Countries of the world are given ranks according to (a) per capita income, x; and
(b) population density per square kilometer, y;. How do you correlate x; and y; ?

Torea < <M i (a) i SR 3T, x, T (b) SHEEAT Bcd Uil a7 fohedlHI, ;. o STTER whife
% T STl 2 1« Ty, 1 9 fope TR W SaIted i ?
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SECTION - III
Lug —II1

Note : The part has five short-essay type questions of (12) marks each to be
answered in upto (200) words. The candidates may select one elective
and answer all five (5) questions.
(12x5=60 marks)

e : @ H e (5) oY ferurms 79 1 930 I % (12) 3% 81 TAw
T o1 TR ST < 9 v | et | qdemedt fhdt s weifaea ® & uiw
Tl T S |
(12x5=60 37dh)

Elective - 1

faerea —1

21. Given the following least-squares estimates :
C,=constant + 0.92 Y, + ey,
C,=constant + 0.84 C,; + ey,
C,y=constant + 0.78 Y, + ey,
Y,=constant + 0.55 C,; + ey
Calculate the least-squares estimates of 3, and B in
Ci = By BY +B3C + U
e =g ot eTehe e €

C,=3TR + 092, + e,

C,= 3R + 084 Cyy + ey
Coq =3 + 078 Y, + e,
Y, =3 + 055 Cq + ey
71 | | B, 3R B, % =AW a7l THTTh] i TUMT HIFT -

Cp = By +BpY +B3C 1 + Uy

D —-0105 14



22.

23.

Consider the Cobb-Douglas production function :

Where Y;= output, X,= labour input and X; =capital input. Written in log form, the

equation becomes :

InYi=f,+ 5, InX,,+ B, nX,;+U,.... (2)

Where B =Inf,

How does one find out if there are constant returns to scale ?

e T Hie-STed SIS o fea ©

B2 B3 ui
Y= B X, X, e“.. ()

TR, Y= 3G, X,= FH TR T X, = Yofl ST 7 | =) eft Tefteraon ol crgoeies &9 Hfen s :
InYi=B,+5,nX,,+ B, inX;,+U.... (2)

S B =1npy

ST ¥ THE % feer fawet 8 1 ¥ Ta1 foRan ST Skl € 2

The empirical results based on the data for 1946-1975 were as follows (standard errors
in the parenthesis) :

Cy =26.19+0.6248GNP; — 0.4398D,
(2.73) (0.0060) (0.0736)

RZ =0.999

C¢/GNP =25.92 (1 /GNPy +0.6246 —0.4315 (Dt/GNPY)
(2.22) (0.0068) (0.0597)
R2=0.875

(a) What assumption is made by the authors about the nature of heteroscedasticity ?

(b) Compare the results of the two regressions. Has the transformation of the original
model improved the results, that is reduced, the estimated standard errors ?

(c) Can you compare the two R? values ?

D —-0105 15 P.T.O.



1946-1975 % A & MR R F7= nfass (3Efifera) e o gu € (e T
s | fa €)

A

Cy =26.19 +0.6248 GNP —0.4398D,
(2.73) (0.0060) (0.0736)

RZ =0.999

C¢/GNP =25.92 (1 /GNPy +0.6246 —0.4315 (Dt/GNPY)
(2.22) (0.0068) (0.0597)
R%=0.875

(a) Towm fomnferar & faw & oRaeni 3 9o Hr=ra o 22

(b) < YATRTHAT o TSl ahi G e | RN A HiSH o S0 9 sl § R g7 €, 7°iq
LSS TE FHAGE 7

(c) N 3MI 37 T R2 ool ki ot R Tohdl & 2

24. Given the two equation system :
Bi1 Yie+ Bro Yor T M1 Xqe+ M2 X =ugpennn(1)

Bo1 Y1e+ Boo Yor t A1 Xqp+ A2p Xp =1y (2)

Following restrictions are imposed
@  M2=0, A =0,
(b) A2 =0, 2 =0,

Discuss the identification problem of equations (1) and (2) with respect to
restrictions in (a) and (b).

o < wereRei e fean ©

Bi1 Y1t T B12 Yor T M1 Xq¢+ M2 Xp =uqpenn(1)

Ba1 Y1e T Boo Yo+ 221 X+ A2 X = Uppen..(2)

Frefafea gfrey me T E -

(@ A2=0, 221 =0,

(b) M2 =0, Ay =0,

(a) 3R (b) Ufqaei & ded & (1) T (2) FHRN st sTfafTaRor Taeensti &t foo=m i

D —-0105 16



25.

21.

22.

23.

24.

25.

21.

Discuss the concept of stationarity and unit root test in the context of time series analysis.

el Foft fageiwor & Hed | feerdl (RRMARE) =it srauren 9o e € 2 whi forer=m i
OR / 31%r&T

Elective - 11
foerea—11
Explain the maximum rule in a 2-person zero-sum game.
< =fe ST W' 7 sifeeman fram’ &1 smen S |

What is meant by equilibrium growth in the neo-classical growth model ? How is it
achieved ?

TIREETE! TRt ATt |, Hferd fasm & o e § ? 9% fha wehr e foman Simar &2

Explain the problem of economic inefficiency under monopoly.

TR & T * SMfefer sTammar’ st Twe i |Hesd |

What is acceleration principle ? Explain the working of super-multiplier ?

0T FHGT R § 2 YUR-T[UIk i ST YU hl TSy |

Why the equilibrium growth rate is unstable in the Harrod-Domar model ? Explain
TS AT o 3T=ATd He-foehrd <F, Ifeer i et 7 2 THemsy |
OR / 31a

Elective - III
faerea —111

Discuss the lessons which could be drawn by the developing countries from the
break down of the Bretton Woods System finally in 1973. Examine the role of IMF in
putting the international monetary system on a sound footing in the Post-Bretton Woods
period.

1973 H 97 g4 el & Sifaaey | 22 A 9, faske-ga I &l fielt, dial st fae=m
HIFT | ISTgSH % U9 i 3Tafy | ST Hifgsh Hewen &l ge TUR o7 § iaie™
ST hIY ki fHeRT ST TH&T0T IS |

D —-0105 17 P.T.O.



22.

23.

24.

25.

21.

22.

What are the major features of Singapore issues under WTO ? How do these affect the
developing countries including India ?

forea SATIR HTeA & 1=, THTqR HE] o 91 T AeTu & 2 I8 YRd 9fed, fosmmamga Il &l
g yeRR genford o & ?

Distinguish between equilibrium exchange rate and exchange rate overshooting. Explain
the factors that influence the exchange rate overshooting under the fluctuating exchange
rate system.

Her fafma g den Afdefed (over shooting) fafma ST e IS | 37 SRl o6t =
it St feer fafra <2 seeen & =i, fafa <X stfaetem =i gefad & § 2

Discuss the major features of the Euro-Currency market and International bond markets.
Explain their rapid growth in terms of size and the range of services during the last
three decades.

T B TSR AL ST 1€ SR o GHE A0 FIded | THeh SRR qel ar-foear |
Tl 19 <erenl § gU e fasm o0t samen sifs |

Examine the role of structural adjustment programmes initated by IMF/ World Bank
during 1980-85 in reducing the incidence of poverty in developing countries including
India.

1980-85 ! 31afY % IR WRA Wfed fowmE=E T § Tiet R A & o =i ge
e/ faa e g1 E T3 T hrishel s fHent o1 qieTor shifsr |

OR / 1%t

Elective - IV
fasmca—1v

Account for regional differentials in the productivity of non-food crops in India. How
can these differentials be narrowed ?

URA § TR-WTe ! ki Scdieehdl § & 37ad sl TS | 39 3l ol fhd YohR &1 foma
ST Hehdl § 2

Examine the rationale behind the introduction of public distribution system in India.

ARA § Hresifeh fIawor Yot o] i o TehieR ol &0 s |
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23.

24.

25.

21.

22.

23.

24.

25.

“Availability of credit is the major bottleneck in the attainment of sustainable
development of Indian Agriculture”. In this context evaluate the role of co operative
credit institutions in the country.

* R it % SefenpTeli forehra | g i SUTTdl Ush W@ o1 § 1’ 39 Heol # <u A wesnd
|G T3l i fHeRT 1 Jedichd Shife |

What major changes in agrarian structure would you suggest to make Indian agriculture
globally competitive ?

IRA HY Rl YHeA TR W gfqersicss s & fod yawadE g 8 o fomm ufiad= &
RECEUN

Account for the failure of land reforms in India in improving incentive-structure in
agriculture.

IR o H Freargsh-ard bl uRd H fF-Guil ot fawerdn o HRol st e Hifsd |
OR / 1%raT

Elective - V
faswea—v

Explain the rationale of planning in the context of Economic Development.

afifefer faerrg o Heyl H 9IS & dehiaR ot sareT shifsrd |

What are the effects of economic reforms on reduction of poverty in India ?

IR H T A HH H iR Rl % 1 e § 2

Explain the effects of liberalisation on the Indian Industrial Sector.

R STenfiTer &5 H SSHRehuT o YHTE ohi SAREAT hifd ?

What are the environmental issues emerging as a result of Economic Reforms in
India ?

qRA H 3ol YU o Herea®d 3cdel U TAeRuiy Haj ol aded |

Highlight the importance of women empowerment in the context of Economic
Development.

afifefer faerrg o Hesl H Hfge Teifadentor & A T ehiel Siferd |
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SECTION - IV

Qus -1V
Note : The part has one question of (40) marks to be answered in upto 1000
words.
(40x1=40 marks)
e TH WS H TH Y AeE (40) SHhl H g1 HH ST AT TH BSR

(1000) w=ai ¥ <iST |
(40x1=40 3h)

26. Why does the problem of heteroscedasticity is likely to be more common in cross-sectional
than time series data ? Discuss a test for detection of heteroscedasticity. Briefly, explain
the consequences of using OLS in the presence of heteroscedasticity.

Torom feranferdn =6t wwen, o Aol o6t STHa STu%Y shrerd Wil ¥ itk = =i gt
¥ 2 forom fornferan <61 v o & ford wes qdieror o forar= it | foom famnferar st Suferfy
T OLS YaIT &3 o GROMHT sht AR hifs |

OR / 31eraT

How does a sales revenue maximizer achieve an optimal combination of inputs and
outputs.

Teh foehd 219 HadIgsR, 3TNl aen Tridl <l Uk gsedm HamT fhd ehR TH ohidl & 2
OR / AT

Discuss the underlying factors responsible for the 1997 East Asian financial crisis. In
what way it was different than 1982 Latin American debt crisis ?

1997 qait-ufirer fawdia Hae & fHfed SRl &t faer=mn wifsd | 98 1982 & ifer sTafte &
Hehe ¥ fohe YRR fart o)

OR / 3Ydr
Discuss the problems and prospects of agricultural marketing in Indian Agriculture.
AR H9 H FiY foqur 6t geensti qon vt ueHet & faea=d S|

OR / 3¥dr

Discuss the major recommendations of the Narasimham Committee on Financial Sector
Reforms in India.

qRd § R wffd ot foxita &3 § gy faomien 1 foer=m wifss |
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